

$$\varphi: \underbrace{V}_{\mathcal{B}} \rightarrow \underbrace{U}_{\mathcal{A}}$$

$$\left(\underbrace{v_1, \dots, v_n}_{\mathcal{B}} \right)$$

$$\mathcal{B} = \mathcal{P} + \mathcal{K}$$

$$\left(\underbrace{(\varphi)}_{\mathcal{A}, \mathcal{B}} \right) \quad | \quad \left(\underbrace{(\varphi)}_{\mathcal{A}} \right)$$

$$\left(\underbrace{(\varphi(v_1)) \dots (\varphi(v_n))}_{\mathcal{A}} \right)$$

$$\left(\underbrace{(\varphi)}_{\mathcal{A}} \right)$$

$$\underline{(f \circ g)_{\alpha, \beta} = (A \cdot B \mid A \cdot B + Q)}$$

$$\begin{array}{l}
 A \mathbb{Q} = \mathbb{D} \\
 A \mathbb{R} = \mathbb{D} \\
 \hline
 A(\mathbb{Q} - \mathbb{R}) = 0 \\
 \mathbb{Q} - \mathbb{R} \in \mathcal{R}(A)
 \end{array}$$

$$\begin{array}{l}
 A \mathbb{R} = \mathbb{D} \\
 A \mathbb{X} = 0 \\
 \hline
 A(\mathbb{R} + \mathbb{X}) = \mathbb{D} \\
 \mathbb{R} + \mathbb{X} \in \mathcal{R}(A | \mathbb{A})
 \end{array}$$

$$\mathbb{R} + \mathbb{Q}(A) \cong \mathbb{Q}(A | \mathbb{H})$$

$$\beta - \mathbb{R} \in \mathbb{Q}(A)$$

$$\beta = \mathbb{R} + (\beta - \mathbb{R}) \in \mathbb{R} + \mathbb{Q}(A).$$

$A \neq B$ má řešení \Leftrightarrow

$$\exists \mathbf{c} \in K^m \quad \sum_{j=1}^m c_j p_j(A) = B$$

$$\Leftrightarrow B \in [p_1(A), \dots, p_m(A)] \Leftrightarrow$$

$$\Leftrightarrow \underline{\dim [p_1(A), \dots, p_m(A)] = \dim [p_1(A), \dots, B]}$$

$$\Leftrightarrow r(A) = r(A|B)$$

$$r(\alpha) < m$$

$$\left(\begin{array}{c|c|c} A' & D & B' \\ \hline A & 0 & B \end{array} \right) \left(\begin{array}{c} D \\ 0 \end{array} \right) \} r(\alpha)$$

$$A'x = D + B'$$

$$Ax = 0 + B$$

$$Ax = B$$

$$F: V^m \rightarrow W$$

$$\begin{array}{c} m=2 \\ \hline \hline \end{array} \quad \begin{array}{c} | \\ \hline \end{array} \quad U, V, W$$

$$F: U \times V \rightarrow W$$

$$x \in U \quad F(x, -): V \rightarrow W$$

$$F(x, c_1 y_1 + c_2 y_2) = c_1 F(x, y_1) + c_2 F(x, y_2)$$

$y_1 \in V, F(-, y_1): U \rightarrow W \quad L2$

$$x \in U$$

$$F(x, -): V \rightarrow K \text{ i } \underline{L^2}$$

$$\underline{\left(\left(x \right)_\alpha^T A \right)} \cdot \left(\delta \right)_\beta$$

$$\begin{aligned}
 & a_{ij} = F(k_i, k_j) \\
 & x \in K, \quad \left(\frac{x}{R} \right) = \begin{pmatrix} x_1 \\ \vdots \\ x_m \end{pmatrix} \\
 & \varphi \in K, \quad \left(\frac{\varphi}{R} \right) = \begin{pmatrix} \varphi_1 \\ \vdots \\ \varphi_m \end{pmatrix} \\
 & F\left(\frac{x}{R}\right) = F\left(\frac{\varphi}{R}\right) \\
 & \prod_{i=1}^m (x_i - \varphi_i) = \prod_{i=1}^m (k_i - k_j) \\
 & \prod_{i=1}^m (x_i - \varphi_i) = \prod_{i=1}^m (k_i - k_j)
 \end{aligned}$$